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A shopkeeper gets 20% profit but if he reduces its cost price by 20%
and selling price by 47 rupees then profit will be 25%.Calculate cost

price?

Ueh GahliaR &l 20% T TH UTH idl & dfehed Il ag 3qS
Hed H 20% T DAl HIAT & 3R TIehl HeT 47 30A & dl oA 25%

| SI9Td Hed hl IM0TAT P2




A shopkeeper gets 20% profit but if he reduces its cost price by 20%
and selling price by 47 rupees then profit will be 25%.Calculate cost
price?




A shopkeeper gets 10% profit but if he reduces its cost price by 4%
and had increased selling price by 10 rupees then profit will be 18
3/4%. Calculate cost price?
Teh GehlelGR &l 10% T o THeIdT & oifehed Iie a SHb
Tﬁ4%®mﬂm%3ﬂ?ﬁzﬁa{mﬁ1omzﬁ hr

dl ot 18 3/4% BIIM| oINTd Hed hl I0TAT hi?




A shopkeeper gets 10% profit but if he reduces its cost price by 4%
and had increased selling price by 10 rupees then profit will be 18
3/4%. Calculate cost price?



A shopkeeper gets 25% profit but if he reduces its cost price by 25%
and selling price by 25 rupees then profit will be 25%. Calculate cost
price?

Uh GehIeIGR @l 25% @I ATH Tl & offchad Il ag 3HD hd He
H 25% 3R TOhT HeT H 25 TUY T HHAT AT § ol oH 25%
S| oINTd Hed bl IMUTAT hi?




A shopkeeper gets 25% profit but if he reduces its cost price by 25%
and selling price by 25 rupees then profit will be 25%. Calculate cost
price?



A shopkeeper gets 10% profit but if he reduces its cost price by 27
and selling price by 27 rupees then profit will be 15%.Calculate cost
price?

Uh SPIAGR Bl 10% TH UTH Bl & offchad Il I D HT A
hl 27 ¥UY A P odl & AR TIhl Hed 27 30T hA Hd%f
dl o 15% BN SETd Hed DI 0T h?




A shopkeeper gets 10% profit but if he reduces its cost price by 27
and selling price by 27 rupees then profit will be 15%.Calculate cost
price?




A shopkeeper gets 25% profit but if he reduces its cost price by 20
rupees and selling price by 17.5 rupees then profit will be
40%.Calculate cost price?

Ueh GehIeIGR @l 25% oI UTH T & offchad Al a8 3HD $hy Hed
# 20 3UY AT HAT B %ﬁ?ﬁiﬁg&ﬁaﬂﬂw.sm%%
o 40% BIIM| FIETT FHed hT I0TAT h?




A shopkeeper gets 25% profit but if he reduces its cost price by 20
rupees and selling price by 17.5 rupees then profit will be
40%.Calculate cost price?



A shopkeeper gets 5% profit but if he reduces its cost price by 100 rs

and selling price increases by 30 rupees then profit will be 50%.
Calculate cost price?

Uh SPIAGR &l 5% o9 fAerdr & ofha afe g s9b PI T A
100 ¥UY T hAl Pl & AR [dehT Hed A 30 TUF &1 gig &
& ol oH 50% BNM| shg Hed i 0T ?




A shopkeeper gets 5% profit but if he reduces its cost price by 100 rs
and selling price increases by 30 rupees then profit will be 50%.
Calculate cost price?



A shopkeeper gets 12.5% profit but if he reduces its cost price by

10rs and selling price reduces by 8.85 rupees then profit will be
20%. Calculate cost price.?

Uh bl @l 12.5% T UTE BIdl g o Al a sqD H
Aed H 10 3UY &H HAT HIAT & IR TIhT e H 8.85 IUY &l
Al FIAT & dl oA 20% B NI Hed hl IOTAT Pi?




